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MAINS MOCK TEST
1. On selling 17 articles for Rs 720 a person incurred

loss equal to cost price of 5 articles. Find the C.P. of
each article = ?
17 720 Rs

 = ?
(a) 50 (b) 120
(c) 60 (d) 10

 2. On selling 80 articles for Rs 140 a person incurred
loss of 30%. How many articles he should sell  for Rs
104 to earn profit of 30%.
140 Rs 80 30% 104 Rs.

(a) 20 (b) 32
(c) 16 (d) 30

 3. Two horses were bought at Rs 1600. First was sold
at 10% profit and second at 20% profit. If  first were
sold at 20% profit and second at 10% profit he would
get Rs 5 more. Find the difference between the cost
price of both the horses.

1600 Rs. 10%
20%

20% 10% 5 Rs

(a) 10 (b) 160
(c) 50 (d) 60

 4. A shopkeeper gives discount of 4% and gives one ar-
ticle free on purchasing 15 ariticles. If he earns profit
of 35% then find ratio of C.P. to M.P.

15 1
35%

(a) 2 : 3 (b) 1 : 2
(c) 3 : 2 (d) 4 : 5

 5. A shopkeeper purchased some oranges. By selling 50%
oranges he got his purchasing price and sold 60% of re-
maining at the half of the profit % earlier and thrown away
rest oranges. Find profit %.

(a) 84% (b) 50%
(c) 45% (d) 25%

6. A sum of  Rs 2400 amounts to Rs. 3350 in 4 years at simple
interest. If the rate of interest increased by 1% it would be
amount to how much?
2400

 1%
(a) 3446 (b) 3500
(c) 3396 (d) 3498

7. A sum of money Amounts to Rs. 9440 in 3 years. If the rate
of interest is increased by the rate of 25%, the amount
becomes 9800 in same time. Find the principal & Rate?

9800

(a) 8000, 6% (b) 6000,8%
(c) 8000, 8% (d) 7800, 4%

8. The interest on a certain amount of money is Rs. 1500 in 12
years. What is the simple interrest if the principal amount is
increased by 10% & 25% respectively from the intial princi-
pal amount after every 4 years.

1500
10%  25%

(a) 1575 (b) 1625
(c) 1675 (d) 1600

9. A sum of money becomes 16 times of itself in 2 years if
compounded half yearly. How much time it will take to
becomes 27 times if compounded yearly.

(a) 1 years (b) 3 years
(c) 4 years (d) 2 years



Contact  No. :   9555202436,  9716761136

630, 3rd Floor Near Aggarwal Sweets Mukherjee Nagar

MATHSWITHABHINAY CLASSES

2

10. A mixture of bross contains Cu & Zn and a mixture of
bronze contains Cu, Zn & Tn having 80%, 4% & 16%
respectively. Both mixture are mixed and resulting mixture
contains percentage of Cu, Zn & Tn 74%, 16% & 10%.
Find the percentage of Cu & Zn in the mixture of Bross.

(a) 64%, 36% (b) 44%, 46%
(c) 60%, 40% (d) 80%, 20%

11. There are 35 students in a hostel. If the number of students
increases by 7, then the expenses of the mess increased by
Rs. 42 per day while the average expenditure per head
diminishes by Re 1. Find the original expenditure of the
mess.

Rs 42  Rs 1

(a) 360 (b) 350
(c) 420 (d) 200

12. If Q
2

p q r+ +=  and

(Q – p) : (Q – q) : (Q – r) : : 17 : 5 : 8
Find p : q : r .

Q
2

p q r+ +=

(Q – p) : (Q – q) : (Q – r) : : 17 : 5 : 8
p : q : r

(a) 23 : 16 : 11 (b) 13 : 2 : 22
(c) 23 : 17 : 13 (d) 13 : 25 : 22

13. The income of A and B are in the ratio 5 : 3 and there
expenses are in the ratio 9 : 5. If  both  saves Rs.
1300, Rs. 900 then find there income.
A  B 5 : 3

(a) 4000, 2400 (b) 5000,3000
(c) 3000, 2400 (d) 4000, 3000

14. A heart is broken into no. of feelings 1 : 2 : 3 : 4 . The
cost of heart is directly proportional to the square of
no. of feelings. There is Rs. 700 loss on broken heart.
Find the initial cost of the heart?

1 : 2 : 3 : 4

(a) 1000 (b) 2500
(c) 2000 (d) 7000

15. Rs. 180 are divided into 66 male and female. The
ratio of total amount given to male and female is 5 : 4.
The ratio of amount given to one male and female is 3
: 2.Find the number of males and females.

(a) 36, 30 (b) 30, 40
(c) 30, 36 (d) 40, 30

16. Ten years ago, a family had 8 members and the average of
their ages then was 33 years. Four years later, a member
died at age of 64 years and a boy was born, After three
more years, another member died , at the age of 72 years
and a girl was born. Find the present average age of this
family (in years).

(a) 26 (b) 32
(c) 25 (d) 23

17. A, B and C enter into partnership in a business with capitals
of Rs 5,000, Rs 6,000 and Rs 4,000 respectively. A gets 30
percent of the profit for managing the business and balance
is divided in proportion to their capitals. At the end of the
year, A gets Rs 200 more than B and C together. Find the
total profit.
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A, B  C
A

A B
C
(a) Rs 3,600 (b) Rs 3,000
(c) Rs 2,875 (d) Rs 2,550

18. If a six digit number is formed by repeating a three
digit number (e.g.  656656, 214214), then that number
will be divisible by :

 (   656656, 214214),

(a) Only 7 (b) Only 11
(c) Only 13 (d) 1001

19. Find the unit digit of expression

(823)933! × (777)223! × (838)123!

(a) 6 (b) 1
(c) 2 (d) 3

20. Find the no. of zeros in expression :
(3123 – 3122 – 3121)(2121 – 2120 – 2119)

 (3123 – 3122 – 3121)(2121 – 2120 – 2119)

(a) 1 (b) 2
(c) 3 (d) 0

21. Find the remiander when (3)162 is divided by 162.
(3)162

(a) 1 (b) 81
(c) 150 (d) 100

22. Find the remiander when (777777 …… 100 times)
is divided by 13.

 (777777 …… 100 times)

(a) 10 (b) 3
(c) 4 (d) 5

23. What should be added to 8315945 × 8315947, so that
number will be a perfect square.

 8315945 × 8315947

(a) 10 (b) 1
(c) 8315945 (d) 831594

24. A man engaged a servant on the condition that the he
would pay him Rs 3000 and one uniform after one year
of sevice. He served only for 9 months and got Rs
2200 and a uniform. What is the price of uniform?
,d vkneh us ,d ukSdj dks bl 'krZ ij fu;qDr fd;k fd og
mls 3000 #- nsxk vkSj ,d lky ckn onhZ nsxkA mlus 9 eghus
dke fd;k vkSj 2200 #- vkSj ,d onhZ feyh rks mldh onhZ
dh dher D;k gS\
(a) 100 (b) 200
(c) 250 (d) 400

25. The greatest common divisor of 33333 +1 and
33433 +

1 is :

la[;kvksa 33333 +1 vkSj 33433 + 1 dk vf/dre mHk;fu"B
Hkktd gS :
(a) 2 (b) 1

(c) 33333 +1 (d) 20
26. Tow persons P & Q start their journey from A to

B. Distance between A & B is 60 km. Speed of P
is 4 km/hr less than speed of Q. Q reached at B
and immediately reaturn to A and meet P at
the distance of 12 km from B. Find the speed of
P and Q in km/hr.

P  Q A B
A B 60 P Q

4 Q, B P
B 12 P  Q

(a) 5, 9 (b) 6, 10
(c) 4, 8 (d) 8, 12

27. A thief saw a policeman from the distance of
700 m. Thief run 4.7 km in 41 minute and po-
lice run in 4.7 km in 34 minute. How much
distance will the thief before arresting?
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(a) 3400 m (b) 3000 m
(c) 4100 m (d) 3500 m

28. A takes  days more than B and 16 days more than C  to
complete a work. C works as much as A + B works togehter.
In how many days will A, B & C alone complete this work ?
A B  7 C 16

 C A  B
A, B, C

(a) 28, 21, 12 (b) 10, 16, 26
(c) 12, 28, 21 (d) 15, 31, 23

29. A is 40 % more efficent than B and B is 20 % less efficent
than C. If A takes 6 days less than C to complete a work,
then in how many days will B complete this work ?
A B B  C

A C
B

(a) 35 (b) 70
(c) 105 (d) 40

30. Shyam and Radha statrt their journey from A
and B respectively at 10 a.m. to meet each
other. After meeting each other Shyam
reached at B in 24 min and Radha reached at
A in 54 min. At what time will they meet ?

A B
B 24

A

(a) 10 : 36 am (b) 10 : 35 am
(c) 10 : 30 am (d) 10 : 40 am

31. A train moves from a station and after travel-
ing 333 km meets with an accident. And then
the speed of the train becomes by 119/787th
of its former speed. And tavelling the remain-
ing distance it reaches to its destination 4
hours late. If the accident occured 111 km
ahead then it reaches 3 hours late. Then find
the distance of its journey?

(a) 444 km (b) 770 km
(c) 555 km (d) 777 km

32. A man travels 300 km partly by train and partly
by car. He takes 4 hours to reach. If  he travels
60 km by train and rest by car. He will take 10
minutes more if he were to travel 100 km by
train and rest by car. The speed of the train is:

(a) 50 km/hr (b) 60 km/hr
(c) 100 km/hr (d) 120 km/hr

33. A train has 23 boggies and length of each boggy is
49 m. This train takes 115 second to cross a pole. If
9 boggies are left then in how many seconds will
train take to cross the same pole with remaining 14
boggies?

(a) 50 sec (b) 80 sec
(c) 70 sec (d) 100 sec

34. A train passes two persons walking in the same di-
rections at a speed 5 km/hr and 7 km/hr respectively
in 10 sec and 11 sec respectively. Find the speed of
the train.

5 /
 7 / 10 11

(a) 28 km/hr (b) 25 km/hr
(c) 54 km/hr (d) 27 km/hr
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35. The length of a train is 120 meter more than the length
of another train. When they travel in opposite direc-
tion, they cross each other in 20 sec. and when they
travel in same direction they cross each other in 2
min. If the speed of slower train is 45 km/hr then find
the speed of faster train.

20

2
45

(a) 50 km/hr (b) 60 km/hr
(c) 63 km/hr (d) 75 km/hr

36. A work for 2 days, then B complete the remaining work in 9
days. If A work for 3 days, then B complete the remaining
work in 6 days. In how many days will A & B do this work
alone ?

A B
A 3 B

A B

(a) 5, 15 (b) 10, 30
(c) 6, 18 (d) 8, 24

37. A + B can do a piece of work in 10 days. A works
12
2

days

and B works for
18
2

 days then half of the work has been

completed. In how many days will B do this work alone ?

(A + B) A
12
2

B
18
2

B

(a) 20 (b) 24
(c) 18 (d) 30

38. If  the average of 17 consecutive  even no. is 142.
Find the difference between first and last number.

(a) 34, 284 (b) 32, 284
(c) 32, 300 (d) 30, 300

39.If 2 23 –12 19 3 –12 –11 6x x x x  

then 2 23 –12 19 – 3 –12 –11 ?x x x x 

2 23 –12 19 3 –12 –11 6x x x x  

2 23 –12 19 – 3 –12 –11 ?x x x x 

(a) 5 (b) 3
(c) 10 (d) 4

40. If x + y = 2z , then ?
– –
x y

x z y z
 

x + y = 2z , ?
– –
x y

x z y z
 

(a) 1 (b) 0
(c) 2 (d) –1

41. If
1
a

x a  and
1–
a

y a , then find the value

x4 + y4 – 2x2y2 is

1
a

x a 
1–
a

y a , x4 + y4 – 2x2y2

(a) 0 (b) 4
(c) 8 (d) 16

42. If x2 + 2 = 2x, then x4 – x3 + x2 + 2  is

x2 + 2 = 2x, x4 – x3 + x2 + 2

(a) 0 (b) –1
(c) 2 (d) 1

43. An agent gets 5% commissinon on all sales up to 10,000
and 4% commission on all sales exceeding this. of he gives
Rs 31100 to his company after deducting his commission.
Find his total sales?

agent 5%
4%
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1
4

Rs 31100

(a) 34000 (b) 32500
(c) 22500 (d) 32000

44. A solution contains 15% of salt, from which 30 kg of water
is removed. The quantity of salt remains 20% in that solu-
tion find the initial quantity of solution.

30 kg
20% starting mixture

(a) 90 (b) 100
(c) 150 (d) 120

45. In triangle ABC, A  is equal to 120°. There is a point D
inside the triangle such that DBC  = 2 ABD  and

DCB  = 2 ACD . What is the measure of BDC ?

 ABC , A 120   D

DBC  = 2 ABD DCB  =
2 ACD BDC

A

B C

D

(a) 100 (b) 90
(c) 140 (d) 50

46. In a triangle DEF, points A, B, and C are C are taken on DE,
DF and EF respectively such that EC = AC and CF = BC. If

D=40º  then, ACB ? 

 DEF  A, B  C  DE, DF EF
EC = AC CF = BC

D=40º ACB ? 

(a) 120 (b) 60
(c) 100 (d) 90

47. In a ABC, A 60   , AB = 3 cm, AC = 4 cm. Find the
length of AD, if AD is angle bisector.

ABC A 60 ,    AB = 3   AC = 4   AD
AD

(a) 12 3
7

(b) 6 3
7

(c) 5 (d) 6
48. In a ABC,  AB = AC, D is a point on BC such that

BAD 50    and a point E on side AC such that AE = AD
find CDE.

ABC  AB = AC, D  BC
BAD 50     E  AC AE =

AD CDE

(a) 35 (b) 25
(c) 15 (d) 50

49. In a ABC,  Median AD  side AB. Find the value of

tan A
tan B

.

ABC  AAD,   BC
tan A
tan B

(a) 1 (b) 3
(c) 0 (d) –2

50. If the semiperimeter of a right angle triangle is 126 cm and
length of smallest median is 56 cm. Find the area of triangle.

(a) 1660 (b) 1764
(c) 1760 (d) 1664

51. ABC is a right angle triangle  (right angled at B), BD is
perpendicular to AC. If  AC = 16 cm, BC =12 cm, find the length
of CD.

ABC , B   BD   AC
 AC = 16  BC = 12   CD

(a) 12 (b) 9
(c) 16 (d) 6

52. In a triangle ABC, the lengths of the sides AB and AC equal
to 17.5 cm an 9 cm respecively. Let D be a point on the line
segment BC such that AD is perpendicular to BC. If AD = 3
cm, the what is the radius (in cm) of the circle circumscribing
the triangle ABC?
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 ABC , AB AC
BC  D AD, BC

AD = 3 ABC

(a) 26 (b) 26.5
(c) 26.25 (d) 25.5

53. In a triangle ABC, angle bisector of BAC cut the side BC
at D and meet the circumcircle of ABC at E. If AC = 4 cm,
AD = 5 cm, DE =  3 cm. Find the length of AB.

 ABC BAC BC D
ABC  E AC = 4

AD = 5 DE =  3 AB
(a) 10 (b) 8
(c) 9 (d) 12

54. ABCD is a parallelogram. P and Q are mid points of BC &
CD. Find the area of APQ  if area of ABC is 12.

ABCD  P  Q BC  CD
ABC APQ

(a) 9 (b) 6
(c) 8 (d) 12

55.  ABCD is a trapezium in which AD BC . AB = 9 cm, BC =
12 cm, CD = 15 cm, DA = 20 cm. Find the sum of  square of
diagonals.
ABCD AD BC . AB = 9 , BC = 12

, CD = 15 , DA = 20

(a) 686 (b) 720
(c) 786 (d) 700

56.  ABCD is an isocelles trapezium. AC BD,  Diagonal AD =
15cm, Height AM = 9cm. Find the area of the trapezium.
ABCD AC BD, AD =
15 , AM = 9 .

(a) 108 (b) 100
(c) 120 (d) 135

57. ABCD is a cyclic trapezium & AB is diameter. BC = 2
cm, AB = 8 cm, CD = ?
ABCD  AB  BC = 2 ,
AB = 8 , CD = ?

(a) 7 (b) 6.5
(c) 6 (d) 7.5

58. In a polygon 5 interior angles are equal to 172º each and all
remaining angles are 160º each. Find the no. of sides and
no. of diagonals.

 172º
 160º

(a) 21 (b) 20
(c) 16 (d) 22

59.  A, B, C & D are four points on the circumference of the
circle and 'O' is the centre of circle.

OBD CBD BDC ODB     . find A.

A, B, C  D  'O'

OBD CBD BDC ODB     . A.

(a) 60o (b) 50o

(c) 72o (d) 120o

60. Nikita boutgh 30kg wheat at the rate of  8.9 rupees.
per kg and 40kg at the rate of 9.9 rupees per kg and
sold whole stock at the rate of 9.5 rupees per kg. Find
profit or loss?

8.90
40 9.90

9.50

(a) Rs. 2 loss (b) Rs. 1 loss
(c) Rs. 2 profit (d) Rs. 3 loss

61. Even after reducing the marked price of a pen by Rs
32, a shopkeeper makes a profit of 15%. If the cost
price be Rs 320, what percentage of profit dies he
make it he sells the pen at the marked price?

(a) 20% (b) 30%
(c) 25% (d) 32%
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 62. A person both some article he sold
1
3

 at profit of

14 % ,
3
5

 articles at profit of
117 %
2

and rest at

profit of 20%. Find his total profit %.

1
3

14%

3
5

117 %
2

20%

(a) 10% (b) 18.5%
(c) 16.5% (d) 16%

 63. The prime cost of an article is three times the value
of the raw material used. The cost of raw materi-
als increasef in the ratio of 5 : 12 and manufactur-
ing expenses in the ratio 4 : 5 . The article, which
originally cost Rs 6, will now cost.

(a) 7 (b) 10
(c) 9.8 (d) 9

64. A fruit vendor purchased 80 dozens of bananas at
Rs. 10 per dozen. Out of this, 12 dozens got rotten
and he sold them at Rs per dozen. Remaining ba-
nanas were sold by him at Rs. 14 per dozen. What
profit did the make in this transaction?

(a) 25% (b) 20%
(c) 26% (d) 28%

65. The height of a right circular cone and the radius of its
circular base are respectively 9cm and 3cm. The cone is cut
by a plane parallel to its base so as to divide it into two
parts. The volume of the frustum (i.e., the lower part) of the

cone is 44  cu cm. The radius of the upper circular surface

of the frustum
22
7

  
 

 is–

(a) 3 12  cm (b) 3 13  cm

(c) 3 6  cm (d) 3 20  cm

66. Two solid right cones of equal heights are of radii r1 and r2 are
melted and made to form a solid sphere of radius R. Then the
height of the cone is:

r1 r2

R

(a) 2
2

2
1

24
rr

R
 (b)

21

4
rr

R


(c) 2
2

2
1

34
rr

R
 (d) 2

2
2

1

2

rr
R


67. The ratio of milk and water in a  mixture is 7 : 5. We with-
draw 9 lt mixture and added same quantity of water to the
mixture then ratio becomes  1 : 1 find the initial quantity of
milk.

 7 : 5 9
1

: 1

(a)
336
4

 lt (b) 40 lt

(c) 36 lt (d) 30 lt
68. The ratio of milk and water in a  mixture is 5 : 3. How much

fraction of the mixture must be drawn off and substituted
by water so that the ratio of milk and water in the mixture
becomes 1 : 1?

 5 : 3
 1 : 1

(a) 1/5 (b) 2/3
(c) 2/5 (d) 1/3
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69. A vessel contains a mixture of O2 and N2.The quantity of
O2 is 16% of total mixture. Some quantity of mixture taken
out from it and replaced by N2.This process is repeated
once more.Now  the quantity of O2 is 9% of total mixture.If
total quantity of mixture was 8 lt then find the quantity of
mixture which is taken out.

O2  N2 O2

16%
N2

O2 9%

(a) 2 lt (b) 3 lt
(c) 1 lt (d) 1.5 lt

70. Two vessles A and B contains acid of different
concentration.The capcity of A and B are 6 lt and 3 lt
respectively. We taken out same quantity from both ves-
sels and put into one another , Now the concentration in
both vessel are same.Find the taken out quantity.

A
6 B 3

(a) 2 lt (b) 3 lt
(c) 1 lt (d) 1.5 lt

71. If 3 3+x
x

 = 4(a3 + b3) and 3
13 +x
x

 = 4(a3 – b3), then 4(a2 –

b2) =?

3 3+x
x

 = 4(a3 + b3) 3
13 +x
x

 = 4(a3 – b3),  4(a2 –

b2) =?
(a) 4 (b) 2
(c) 1 (d) 0

72. If  –3
3 2a   and  –3

3 2b   , then (a + 1)–1 +

(b + 1)–1 = ?

 –3
3 2a    –3

3 2b   ,  (a + 1)–1 + (b

+ 1)–1 = ?
(a) 1 (b) 2
(c) 0 (d) –1

73. If x =    1/3 1/3
2 3 2 3a a b a a b     , then what

is the value of x3 + 3bx – 2a.

x =    1/3 1/3
2 3 2 3a a b a a b     , x3 + 3bx

– 2a
(a) 1 (b) 2
(c) 0 (d) –1

74. If
1( 1)( 2) 0

( 1)
x x

x x
   

 , then find x2 + x.

1( 1)( 2) 0
( 1)

x x
x x

   
 , x2 + x

(a) 1 (b) 2
(c) 0 (d) –1

75. If 10 sin4+ 15 cos4 = 6 find
27 cosec6 + 8sec6

 10 sin4+ 15 cos4 = 6

27 cosec6 + 8sec6

(a) 250 (b) 175
(c) 125 (d) 100

76. If
1sec

θ

4
a

a
  , find

1 tan

θ.

cos

θ



1sec

θ

4
a

a
  ,

1 tan

θ.

cos

θ



(a) a (b) 3a
(c) 2a (d) 4a

77. If
2cos –1cos
2 – cos

yx
y

  then tan .cot ?
2 2
x y



2cos –1cos
2 – cos

yx
y

 tan .cot ?
2 2
x y



(a) 1 (b) 0

(c) –1 (d) 3

78. Find sin12º sin48º sin54º .
sin12º sin48º sin54º
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(a) 1/4 (b) 1/8
(c) 1 (d) 1/16

79. If
tanA

1 – cot A
 +

cot A
1 – tanA

 = K + tanA + cotA, then K =?

tanA
1 – cot A

 +
cot A

1 – tanA
 = K + tanA + cotA,  K =?

(a) 1 (b) 0
(c) –1 (d) 2

80. If

cos ec sin lq - q = and sec
θ cosθ

m- = ,then

2 2 2 2( 3) ?l m l m  

cos ec sin lq - q = sec
θ cosθ

m- = ,

2 2 2 2( 3) ?l m l m  

(a) 1 (b) 4
(c) 2 (d) 0

81. If tan cot aq - q =  and cos sin ,bq + q = then

( )22 21 ( 4)b a- + =  ?

tan cot aq - q =

cos sin ,bq + q = ( )22 21 ( 4)b a- + =  ?

(a) 1 (b) 4
(c) 2 (d) 0

82. In an election between two candidates. 10% of voters did
not cast their votes. 60 votes were found invalid. A candi-
date got 47% of votes and won by a majority of 308 votes.
find the total number of votes.

10% vote cast
60 vote invalide

47%  vote

(a) 5580 (b) 3080
(c) 6200 (d) 6000

83. In a ABC,  AB = 5, AC = 6cm, BC = 8 cm. Find the lengh of
median AD.

ABC   AB = 5 , AC = 6  BC = 8
AD

(a)
29
2

(b) 29

(c) 6 (d) 8
84.  In this ABC ,  BD = 8 cm, BC = 20 cm, CD = 16 cm &

CBD CAB   . Find the perimeter of BDA .

ABC  BD = 8 , BC = 20 ,
CD = 16 CBD CAB    BDA

B C

A

168

20

D

(a) 19 (b) 23
(c) 55 (d) 27

85. 4 4 4 4 .............. ?     

(a) 13 1
2
 (b) 13 1

2


(c) 4 (d) 2

86. In figure, DEFG is a square and BAC 90º  , If
BD = 13 cm & EC = 9 cm, then find the area of
square DEFG.

DEFG BAC 90º  BD = 13
EC = 9 DEFG

A
F
AG

D

B

C

E
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(a) 117 cm2 (b) 108 cm2

(c) 104 cm2 (d) 400 cm2

87. If
1 4x
x

+ = and 2
3

1 30x
x

+ =  then

3
2

1 ?x
x

+ =

(a) 60 (b) 120
(c) 90 (d) None of these

88. The angles of elevation of the top of a tower form
two points A and B lying on the horizontal through
the foot of the lower are respectively 15° and 30°. If
A and B are on the same side of the tower and AB =
96 metre, then the height of the tower is :

(tan15 2 3)  

A
B 15°

30° A B
AB = 96

(tan15 2 3)  

(a) 24 3 m (b) 24 m

(c) 48 m (d) 96 m
89. In the following figure if BC = 12 cm. Then find the

length of diagonal AC.

BC = 12 AC

A

B

C

D
105°

150°

(a) 13 (b) 15
(c) 12
(d) Cannot be determined

90. The discount on a certain sum of money, due at the

end of
12
4

 yearst at
22
3

% p.a. is Rs. 78 . Find the

sum.

12
4

22
3

%

(a) Rs. 1378 (b) Rs. 1400
(c) Rs. 1278 (d) Rs. 1300

91. The base of a right prism is a pentagon whose sides are in

the raio 1: 2 : 2 :1: 2  and its height is 10 cm. If the
longest side of the base be 6 cm, the volume of the prism is

1: 2 : 2 :1: 2

(a)270 cm3 (b) 360 cm3

(c)540 cm3 (d) None of these
92. Find the lateral surface area and total surface area of a right

pyramid in which the base is an equilateral triangle of area

16 3  cm3 and length of each lateral edge is 5 cm.

16 3

(a)  36 16 3  cm2 (b) 40 cm2

(c) 36 cm2 (d) 16 cm2

93. 25 men can complete a work in 10 days. 20 boys can com-
plete this work in 50 days. 5 men start the work  and aftr 10
days 10 boys joined them and remaining work is completed
in 20 days. How many boys are joined ?

(a) 20 (b) 15
(c) 10 (d) 30
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94. Three workers A, B and C working together completed a
job in 10 days. However, C only worked for the first three
days when 37% of the job was done. Also, the work done
by A in 5 days is equal to the work done by B in 4 days.
How many days woyld be required by the worker C to
complete the entire work?

A, B C

C
A B

A B
C

(a) 36 (b) 40
(c) 30 (d) 25

95. A pipe can fill a tank in 20 min and another pipe can fill a
tank in 30 min. Pipe A is opened for half of the taime and
pipe A and B are opened for the other half. How long will
it take to fill the tank?

20
30 min A

(a) 1% (b) 1%
(c) 1% (d) 1%

96. If a4 + a3 + a2 + a+ 1= 0 then find the value of  a1000 + a100 +
a10 .

a4 + a3 + a2 + a + 1= 0 a1000 + a100 + a10

(a) 3 (b) 0
(c) 1 (d) –1

97. 22sin 4cos( )sin sin cos2( )b + a +b a b + a +b =?

(a) cos2a (b) cos2b

(c) sin 2a (d) sin 2b

98. A man can row 30 km upstream and 44 km down-
stream in 10 hours. Also can row 40 km upstream
and 55 km downstram in 13 hours. Find the rate of
the current.

(a) 3 km/h (b) 3.5 km/h
(c) 4 km/h (d) 4.5 km/h

99. The equation of the sides of triangle are x + y = 5, x
– y +1 = 0, and y – 1= 0 then co-ordinates of
circumcentre are :

x + y = 5, x – y – 1 = 0, y – 1 = 0

(a) (2, 1) (b) (1, 2)
(c) (2, –2) (d) (1, 2)

100. A shipping clerk has to weigh 6 distinct packets. He
weights them four at a time, weighting all the pos-
sible combinations of the packets from the six. The
average weight of all the weighing combinations is
found to be 500 g. What is the combined weigh of all
the six packets?

(a) 750 gm (b) 400 gm
(c) 1000 gm (d) 500 gm
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